Das Einsdurcheins mit 16 uben [1]

Zum grofien Einmaleins

Aufgabe 1

1. 304:16= (O 13 o7 19 () 18
2. 224:16= () 7 o9 ) 14 M
380 :16= (O 2 O 3 o 8 () 5
4.192:16= () 12 6 ) 15 () 5
5. 320:16= () 20 o3 ) 10 ) 8
6. 32 :16= () 2 5 O 17 SRR
748 :16= (O 3 o6 O 2 SRR
Aufgabe 2

1. 224:16= () 10 O 14 o 3 () 15
2. 48 :16= () 3 10 O 12 ) 17
3. 192:16= () 12 O 2 ) 16 6
4. 320:16= () 6 8 O 4 () 20
5. 224:16= () 4 20 ) 16 ) 14
6. 256 :16= () 2 6 o 8 O 17
7.240:16= () 16 o7 ) 20 () 15
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Das Einsdurcheins mit 16 tben [1] | ANTWORTEN

Aufgabe 1

1. 304 :16 =
2. 224 :16 =
3. 80 :16 =
40192 116 =
5 320 :16 =
6. 32 :16 =
7. 48 16 =
Aufgabe 2

1. 224 :16 =
2. 48 :16 =
3,192 116 =
4. 320 :16 =
5 224 :16 =
6. 256 :16 =
7. 240 :16 =
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Zum grofien Einmaleins
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